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6. Write a C/C++ function that takes an integer as the input parameter and returns the
value of the input integer modulus 3 (i.e.n % 3). However, you are not allowed to
use the modulus operator "%", (10%)
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7. The value of m can be obtained using the following equation:

Write a C/C++ function to return the calculated value of m in double precision and
with a function prototype similar to

double pi(unsigned int n);

where n is the number of terms used to calculate in the equation; for example, if n
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